ROA BT025A Fitting Guide

Vehicle: Ford PX Ranger XLT & Wildtrack (with tub liner)
Year Model: 2011-onwards

Product: Auxiliary Battery Box

Product Code: BT025A

Fits up to N70zz 12 inch case battery or
up to 120AH size 4x4 battery.

1. Assemble the bottom plate using 3. :I/Ia.rII:and drill the 3bt(|)p _hOIGS

3 x 6mm bolts and place battery aln tig 't(:\nb3 xkflmml ° t; IEFOd h

tray into desired position. pace with backing plate behind the
lip of the tub.

e

4. Sit battery into tray and place

2. Mark holes and drill being careful battery hold down on the top inner
not to drill into the tyre. Then corner of the battery. PutJ hooks
tighten 3 x 6mm bolts & washers into the corner holes in the battery
into place. tray and through the hold down,
then tighten until battery is firmly
in place.
Comes complete with: ROADS/ ff?

6 X 6mm bolts & washers
3 x 4mm bolts
1 x hold down with J hooks

RECOMMENDED FOR 4WD SPECIALISTS MECHANICS TO FIT



